/DVIRB

3UDFRZQLN S5RINADG  GU OXFKD _UJ\V]WRI 7\J

7N 7N 7N 7N
ot BHPLQDUXP G\SIRPRZH 3UDZR NRQVINIXFIQH 3UDZR NRQUINIXFAIQH 3UDZR NRQUINIXFAIQH
GU OXFKD -UJ\VIIRI =% ZDU GU OXFKD ZDU GU OXFKD ZDU GU OXFKD
.20387(52:$ JUI\VIIRI =% _UI\VIIRI =% _UI\VIIRI =%
$"0/ = 358 %  :-$5 35% % :-$5 35% %  :-$5
1
oD
5
Lo
[}
=
)
7\G] \G]
= - RQVINIXFVIQ\ VAVIHP - RQVINIXFVIQ\ VAVIHP
4 RUIDQyZ SDEVIZRZ\FK RUIDQyZ SDEVIZRZ\FK
@ = GUOXFKD .UT\VIIRI = GUOXFKD . UJ\V]IRI
> =0 $"05 =% $"05
& &
7\6] 7\6] 7N 7N
- RQVINIXFNIQ\ VAVIHP - RQVINIXFNIQ\ VAVIHP - RQVINIXFNIQ\ VAVIHP - RQVINIXFNIQ\ VAVIHP
RUIDQyZ SDEVIZRZ\FK RUIDQyZ SDEVIZRZ\FK RUIDQyZ SDEVIZRZ\FK RUIDQyZ SDEVIZRZ\FK
a = GUOXFKD . UJ\V]IRI = GUOXFKD . UJ\V]IRI = GUOXFKD . UJ\V]IRI = GUOXFKD . U]\V]IRI
=] =0 $°05 =0 $"05 =0 $°05 =0 $"05
L & & & &
o
I 7\6] 7\6]
(o4 - RQVINIXFVIQ\ VAVIHP - RQVINIXFVIQ\ VAVIHP
RUIDQyZ SDEVIZRZ\FK RUIDQyZ SDEVIZRZ\FK
= GUOXFKD . UJ\V]IRI = GU OXFKD . UJ\V]IRI
=0 $"05 =% $"05
& &




